“z(\/ LR
T

CEER KERENNEL)
LA

T8EPM, NOz

: MW - IWRY

;R - WY (CEREn)
2 ]

: SR
: WA
Wil

Al [exsrue

A ki O
‘gn = wﬁ{ =R

=, f \
| :
et §!
1
]

1]




(20t/km2/ )

40

O (] O =
N\ _
E 30
D _
20t/km?/
20
10
3.2
50
O 12
£ @ 14
X
> 30
20
10

15

11

12




NO,

0.08
007
0.06
0.5

5 0.04
003
0.2
001

0.12
0.10
0.08

&

S,0.06
0.04
0.02

0.00

024
020
016
- So12
008
004

0.00

SPM

0.06ppm

3.4

ti

0.10mg/m®

0.20mg/m®

%

3.5



11 3

116
3.1
51.0 | 46.6 |(55.0)((45.0)
( 46.6 | 46.0 | 55.0 | 45.0
58.3 | 47.0 | 55.0 | 45.0
403 64.9 | 56.0 |(70.0)((65.0)|(75.0)|(70.0)
165 69.8 | 64.2 | 70.0 | 65.0 | 75.0 | 70.0
1 .4 | 70. .0 | 75.0 | 70.
116 69 65 0.0 | 65.0 | 75.0 | 70.0
116 71.6 | 69.6 |(70.0)((65.0)|(75.0)|(70.0)
540 66.5 | 58.7 |(70.0)((65.0)|(75.0)|(70.0)
- 66.2 | 58.2 |(70.0)((65.0)|(75.0)|(70.0)
20 72.0 | 65.3 |(70.0)((65.0)|(75.0)|(70.0)
7 70. .0 | 75.0 | 70.
165 6 60 0.0 | 65.0 | 75.0 | 70.0
6:00 22:00 22:00 6:00
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15.4Hz 19.4Hz 15Hz

3.2
Hz
28.5 25.8 (65.0) | (60.0) —
31.9 29.6 65.0 60.0 —
( )
35.2 27.7 65.0 60.0 —
38.5 30.8 65.0 60.0 18.9
403 (65.0) | (60.0)
48.5 35.9 65.0 60.0 19.4
165
116 46.5 42.3 65.0 60.0 15.8
116 46.5 44 .5 (65.0) | (60.0) 15.4
. 1. . . 19.7
549 36.3 31.8 (65.0) | (60.0) 9
29 45.7 31.1 (65.0) | (60.0) 15.0
99 44.2 35.1 (65.0) | (60.0) 18.7
165 46.0 38.0 65.0 60.0 17.4
1
8:00 19:00 19:00 8:00
@)
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10 t/km?/

3.3 (

/ %
0.370 0.081 0.057 0.006 0.015
0.193 0.043 0.078 0.008 0.007

10.0
0.106 0.054 0.015 0.117 0.012

« 7 )

0.195 0.227 0.041 0.010 0.015
0.210 0.101 0.047 0.035 0.012
NO, SPM
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